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	Level
	Key Questions

	8
	· A bag contains 4 blue counters and 5 red counters.  Billy picks a counter (without looking), replaces it, and then picks again.  What is the probability that he picks one counter of each colour?

	
	· For the problem in section 8c, what is the probability that she passes just one of the two tests on the first attempt?

	
	· The probability that Nora fails her driving theory test on the first attempt is 0.1.  The probability that she passes her practical test on the first attempt is 0.6.  The tree diagram shows this information.  Complete the tree diagram and use it to find the probability that she passes both tests on the first attempt.
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Note to thoughtful pupils:  Obviously she can’t take the practical until the theory is passed.  The diagram is only considering what happens on the first attempt

	7
	· Katrina has to go over a level crossing on her way to work every day.  Over the course of June (30 days) she gets stopped by a train on 17 occasions.  How many times would she expect to be stopped over 260 days?

	
	· Roger calculates that the probability of a pair of his homemade shoes lasting for more than six months is 0.2.  Of a selection of 60 pairs of his homemade shoes, how many would he expect to last for longer than six months?

	
	· Murdo rolls a dice 20 times and records the number of times he obtains each number.  He gets 8 sixes.  Do you think the dice is fair?  Explain your answer


	6
	· Two dice are rolled together and the product of the two numbers is found.  Construct a sample space diagram and find the probability that the product is a multiple of 3.

· The probability that a bag of crisps contains a winning ticket is 1/24.  Melanie knows that 16 pupils in her school have got a ticket from a bag of crisps purchased at the school tuck-shop.  Estimate how many bags of crisps have been sold at the school tuck-shop in this time.

· The probability that Jonathan’s train is on time is 3/8.  The probability that the train is early is 5/13.  What is the probability that the train is late?

	
	· A bag contains a selection of multilink cubes.  There are 3 red, 5 yellow, 2 blue and 6 green cubes.  A cube is picked at random.  What is the probability that a blue or yellow cube is not chosen?

	
	· The probability that a snooker ball chosen at random is red is 15/21.  What is the probability that a ball chosen is a colour other than red?

· The probability that a certain traffic light shows red as James approaches it is 0.3 and the probability that it is green is 0.65.  What is the probability that it is amber?

· A greengrocer’s lucky dip contains a large selection of kiwi fruit, kumquats, cauliflower and cabbages.  For 75p you get to pick two items.  List the different possible selections of ‘fruit ‘n’ veg’ you could get as a result of taking part.

	5
	· A card is picked from a pack of ordinary 52 playing cards.  What is the probability of getting a picture card (jack, queen or king)?  Give your answer as a fraction in its simplest terms.

· Marjorie drops a drawing pin 10 times while waiting for the phone to ring.  She notices it lands point up on 7 occasions.  Find an estimate for the probability that a drawing pin will land point down.

· When Ruth finally calls Marjorie, she is told about the experiment.  Ruth says, ‘If you drop the pin 100 times it will land point up 70 times.’  Is Ruth correct?  Explain your answer.

	
	· A card is picked from a pack of ordinary 52 playing cards.  What is the probability of getting   (a)   a three,   (b)   a club,   (c)   the queen of hearts?  Draw an arrow to show the position of each of your answers on the scale below.


· Meryl needs to choose two people to join a quiz team with her.  Unfortunately, she has three friends; Neryl, Beryl and Cheryl; all of whom are very good at quizzes.  She decides to place each of their names into a large hat and ask her husband (Darryl) to pick out two names at random.  What are the different combinations that Darryl could pick?

	
	· Denzil says, ‘the probability that it will rain tomorrow is 0.5.’  Is Denzil correct?  Explain your answer.

· Give an example of an event which would be placed at ‘0’ on the probability scale below.  Give an example of an event which would be placed at ’1’.




	4
	· Match each event to the phrase that best describes its likelihood:

It will snow in London in October

Impossible

It will snow on the moon

Unlikely

It will snow in Antarctica next year

Evens Chance

A fair six-sided dice will land on an odd number

Likely

It will snow on Snowdon in January

Certain



	3
	· Give an example of an event which is impossible

· Is it certain that tomorrow will be a Saturday?  Explain your answer.
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